
µ −3

µ −3



≤ ∆tc ≤ 10

∆tp ∼ 10minutes



−3 −1
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ré❣✐ss❛♥t ❧✬❡♥s❡♠❜❧❡ ❞❡s ❡s♣è❝❡s✳ ❊♥ t❤é♦r✐❡ ❧❛ ✈❛r✐❛t✐♦♥ ❞❡ ❝♦♥❝❡♥tr❛t✐♦♥ ♣❛r ♣❛s ❞❡ t❡♠♣s✱

❡t ❡♥ ❝❤❛q✉❡ ♣♦✐♥t ❞✉ ♠♦❞è❧❡✱ ❤♦rs ❞❡ ❧❛ ③♦♥❡ ❞✬é♠✐ss✐♦♥ ♣❡✉t êtr❡ ❝❛❧❝✉❧é❡ ❝♦♠♠❡ ❧❛ s♦♠♠❡

❞❡s ✢✉① ❡♥tr❛♥ts ❡t s♦rt❛♥ts ❞❡ ❧❛ ♠❛✐❧❧❡ ❝♦♥s✐❞éré❡✳ ■❧ ❡st ❞♦♥❝ ♣♦ss✐❜❧❡ ❞❡ ✈❛❧✐❞❡r ❧✬✐♠♣❧é✲

♠❡♥t❛t✐♦♥ ❞❡ ♠♦♥ ❝❛❧❝✉❧ ❡♥ ❝♦♠♣❛r❛♥t ❧❡ ❞❡❧t❛ ❞❡ ❝♦♥❝❡♥tr❛t✐♦♥ ❡♥tr❡ ❞❡✉① ♣❛s ❞❡ t❡♠♣s ❡t

❧❛ s♦♠♠❡ ❞❡s ✢✉①✳

❯♥❡ ✐❧❧✉str❛t✐♦♥ ❞✉ ❝❤❛♠♣ ❞❡ ❝♦♥❝❡♥tr❛t✐♦♥ ✭❡♥ ♣♣❜✈✮ ❞❡ ❝❡ tr❛❝❡✉r ❛♣rès ♣❧✉s✐❡✉rs ❥♦✉rs

❞❡ s✐♠✉❧❛t✐♦♥ ❡st r❡♣rés❡♥té❡ s✉r ❧❛ ❋✐❣✉r❡ ■■✳✽✳ ▲❡s ❝♦♥❝❡♥tr❛t✐♦♥s ❧❡s ♣❧✉s ❢♦rt❡s s♦♥t ❧♦❣✐✲

q✉❡♠❡♥t s✐♠✉❧é❡s s✉r ❧❛ ③♦♥❡ ❞✬é♠✐ss✐♦♥ ✭❃✸✵✵ ♣♣❜✈✮✳ ▲❡ tr❛❝❡✉r ❡st ❡♥s✉✐t❡ tr❛♥s♣♦rté ❧♦✐♥

❞❡ ❧❛ s♦✉r❝❡ ❞✬é♠✐ss✐♦♥ ❛✈❡❝ ❞❡s ❝♦♥❝❡♥tr❛t✐♦♥s ♣❧✉s ♠♦❞éré❡s✱ ❞❡ ❧✬♦r❞r❡ ❞✬✉♥❡ ❞✐③❛✐♥❡ ❞❡

♣♣❜✈ ❛♣rès ♣❧✉s✐❡✉rs ❝❡♥t❛✐♥❡s ❞❡ ❦✐❧♦♠ètr❡s ❞❡ tr❛♥s♣♦rt✳ ▲✬é✈♦❧✉t✐♦♥ ❞❡s ❝♦♥❝❡♥tr❛t✐♦♥s ❡♥

❢♦♥❝t✐♦♥ ❞✉ t❡♠♣s ❡♥ ✉♥ ♣♦✐♥t ♥♦té ❥ à ❧✬❡st ❞❡ ❧❛ ③♦♥❡ ❞✬é♠✐ss✐♦♥ ❡st r❡♣rés❡♥té❡ s✉r ❧❛ ■■✳✾✱

❡♥ ♣♣❜✈✳

❋✐❣✉r❡ ■■✳✽ ✕ ❈❤❛♠♣ ❞❡ ❝♦♥❝❡♥tr❛t✐♦♥s ❞✬✉♥ tr❛❝❡✉r ✐♥❡rt❡ é♠✐s ❛✈❡❝ ❧❡ ♠ê♠❡ ♣r♦✜❧
s♣❛t✐♦✲t❡♠♣♦r❡❧ q✉❡ ❧❡ ❈❖ s✉r ❧❛ ré❣✐♦♥ ❞✉ ❇❡◆❡▲✉① ✭♣♣❜✈✮✱ ❛♣rès ✉♥❡ ✈✐♥❣t❛✐♥❡ ❞❡
❥♦✉rs ❞❡ s✐♠✉❧❛t✐♦♥

❏✉sq✉✬❛✉ ✷✷ ❥✉✐♥✱ ❧❛ ③♦♥❡ ❝♦♥s✐❞éré❡ ♥✬❡st ♣❛s ✐♠♣❛❝té❡ ♣❛r ❧✬❡s♣è❝❡ ✐♥❡rt❡ é♠✐s❡✳ ➚ ♣❛rt✐r

❞❡ ❝❡tt❡ ❞❛t❡✱ ❧❡ ♣❛♥❛❝❤❡ ❞❡ ❝❡ tr❛❝❡✉r ✐♠♣❛❝t❡ ❧❛ ③♦♥❡✱ ♦ù ❧❡ ♠♦❞è❧❡ s✐♠✉❧❡ ✉♥❡ ❝♦♥❝❡♥tr❛t✐♦♥

♠❛①✐♠❛❧❡ ❞❡ ✻ ♣♣❜✈ ❧❡ ✷✾ ❥✉✐♥✳ ➚ ♣❛rt✐r ❞❡ ❝❡ ♣r♦✜❧ t❡♠♣♦r❡❧✱ ✐❧ ❡st ♣♦ss✐❜❧❡ ❞❡ ❝❛❧❝✉❧❡r ❧❛

✈❛r✐❛t✐♦♥ ❞❡ ❝♦♥❝❡♥tr❛t✐♦♥ à ❝❤❛q✉❡ ♣❛s ❞❡ t❡♠♣s ❛✉ ♣♦✐♥t ❥ s❡❧♦♥ ✿

∆Traci (t) = [Traci]t − [Traci]t−1
✭■■✳✶✷✮



µ −3 −1

µ −3 −1

µ −3 −1

µ −3 −1

µ −3 −1

Fi =
C i

j + C i
j+1

2
× Vvent
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◆♦✉s ❛♣♣❡❧❧❡r♦♥s ❝❡tt❡ ♠ét❤♦❞❡ ✓ ❲■◆❉ ✔✳ ❈❡tt❡ ♠ét❤♦❞❡ s✉❣❣èr❡ q✉❡ ❧❡s ❝♦♥❝❡♥tr❛t✐♦♥s

❞✬✉♥❡ ❡s♣è❝❡ ❝❤✐♠✐q✉❡ ❡t ❧❡s ♣❛r❛♠ètr❡s ♠été♦r♦❧♦❣✐q✉❡s ✈❛r✐❡♥t ❧✐♥é❛✐r❡♠❡♥t ❞✬✉♥❡ ❤❡✉r❡

s✉r ❧✬❛✉tr❡✳ ❖r ♥♦✉s ❛✈♦♥s ✈✉ ❡♥ ■■✳✸✳✶✳✶ q✉❡ ❧❡s éq✉❛t✐♦♥s ét❛✐❡♥t rés♦❧✉❡s à t♦✉s ❧❡s ♣❛s ❞❡

t❡♠♣s ❝❤✐♠✐q✉❡s ❡t q✉❡ ❧❡s ✢✉① ❞ér✐✈❛♥t ❞❡s ♣❛r❛♠ètr❡s ♠été♦r♦❧♦❣✐q✉❡s ❡t ❝❤✐♠✐q✉❡s ét❛✐❡♥t

r❡❝❛❧❝✉❧és à t♦✉s ❧❡s ♣❛s ❞❡ t❡♠♣s ♣❤②s✐q✉❡s✳ ❊♥ ✐♥té❣r❛♥t ❧❡s ✢✉① ❞✐r❡❝t❡♠❡♥t ❞❛♥s ❧❡ s♦❧✈❡✉r

❞✉ ♠♦❞è❧❡✱ ❧❛ ♠ét❤♦❞❡ ❞é✈❡❧♦♣♣é❡ ❞❛♥s ❈❍■▼❊❘❊ ❞❡✈r❛✐t ❞♦♥❝ ♠✐❡✉① r❡♣rés❡♥t❡r ❧❡s ✢✉①✱

♥♦t❛♠♠❡♥t ♣♦✉r ❧❡s ❡s♣è❝❡s ré❛❝t✐✈❡s ❝♦♠♠❡ ❧❡s ◆❖x ♦✉ ❧✬♦③♦♥❡✳

▲❛ ❋✐❣✉r❡ ■■✳✶✵ r❡♣rés❡♥t❡ ❧✬é✈♦❧✉t✐♦♥ t❡♠♣♦r❡❧❧❡ ❞❡s ✢✉① ◆♦r❞✱ ❙✉❞✱ ❖✉❡st ❡t ❊st ❞❡ ❧✬❡s♣è❝❡

tr❛❝❡✉r ❛✉ ♠ê♠❡ ♣♦✐♥t q✉❡ ♣ré❝é❞❡♠♠❡♥t s❡❧♦♥ ❧❡s ❞❡✉① ❛♣♣r♦❝❤❡s✳ ▲✬é✈♦❧✉t✐♦♥ t❡♠♣♦r❡❧❧❡

❞❡s ✢✉① ❡st ✐❞❡♥t✐q✉❡ ❛✈❡❝ ❧❡s ❞❡✉① ♠ét❤♦❞❡s✱ ❡t ❧❡s ✈❛❧❡✉rs ♦❜t❡♥✉❡s ♣❛r ❧❡s ❞❡✉① ♠ét❤♦❞❡s

s♦♥t ♣♦✉r ❧❛ ♣❧✉♣❛rt ❞❡s ♣♦✐♥ts ❡①trê♠❡♠❡♥t ♣r♦❝❤❡s✱ ♠❛✐s ❧✬✐♥t❡♥s✐té ❞❡s ✢✉① ♣❡✉t êtr❡

s✐❣♥✐✜❝❛t✐✈❡♠❡♥t ❞✐✛ér❡♥t❡ ♥♦t❛♠♠❡♥t ❛✉ ♠♦♠❡♥t ♦ù ❧❡s ✢✉① ❝❤❛♥❣❡♥t ❞❡ ❞✐r❡❝t✐♦♥✳ ❊♥

♠♦②❡♥♥❡✱ ❛❧♦rs q✉❡ ❧❛ ♠ét❤♦❞❡ ✐♠♣❧é♠❡♥té❡ ❞❛♥s ❈❍■▼❊❘❊ ❡st✐♠❡ ✉♥ ✢✉① ♥❡t ❞✬❡①♣♦rt ❞❡

✵✱✶✹ µ❣✳♠−2✳s−1 r❡♣rés❡♥t❛♥t ✐❝✐ ❧❛ q✉❛♥t✐té ✐♠♣♦rté❡ ♣❛r ❧❡ ❞❡ss✉s ❞❡ ❧❛ ❜♦✐t❡✱ ❧❛ ♠ét❤♦❞❡

❲■◆❉ ❡st✐♠❡ ✉♥ ✢✉① ❞❡✉① ❢♦✐s ♣❧✉s ♣❡t✐t✳ P♦✉r ✉♥❡ ❡s♣è❝❡ ré❛❝t✐✈❡ ❝♦♠♠❡ ❧✬♦③♦♥❡✱ ❝❡tt❡

❡rr❡✉r ❛tt❡✐♥t ✉♥ ❢❛❝t❡✉r ✽ ❞❛♥s ❧❡s ♠ê♠❡s ❝♦♥❞✐t✐♦♥s✳



µ −3 −1
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❞❡ ❢❛ç♦♥ ♣ré❝✐s❡ ❞❛♥s ❧❡s ♠♦❞è❧❡s✳ ▲❡ ❝❛❧❝✉❧ ❞❡ ✢✉① ✐♠♣❧é♠❡♥té ❞❛♥s ❈❍■▼❊❘❊ ♥♦✉s ♣❡r♠❡t

❞✬❛✈♦✐r ❛❝❝ès à t♦✉s ❧❡s t❡r♠❡s ❞❡ ❧✬éq✉❛t✐♦♥ ■■✳✶ ✿ ❞é♣ôt✱ ✢✉①✱ é♠✐ss✐♦♥s ❡t ✈❛r✐❛t✐♦♥ ❞❡ ❧❛

❝♦♥❝❡♥tr❛t✐♦♥ ❞❡ ❧✬❡s♣è❝❡ ❝♦♥s✐❞éré❡✳ ❙✐ ❧❡ ❞é♣ôt ❡st ❢♦✉r♥✐ ♣❛r ❧❡ ♠♦❞è❧❡ à ✉♥❡ rés♦❧✉t✐♦♥

❤♦r❛✐r❡✱ ♦♥ ♣❡✉t ❞♦♥❝ ❝❛❧❝✉❧❡r ❡♥ ♣♦st✲tr❛✐t❡♠❡♥t✱ ♣♦✉r ✉♥❡ ❡s♣è❝❡ ré❛❝t✐✈❡ ♥♦té❡ ❳✱ ❧❡ t❡r♠❡

❞❡ ♣r♦❞✉❝t✐♦♥✲❝♦♥s♦♠♠❛t✐♦♥ s❡❧♦♥ ✿

PX (t) = ∆ [X] (t)+dépôtX (t)−FluxentrantsX (t)+FluxsortantsX (t)−ÉmissionsX (t) ✭■■✳✶✹✮

Pr❡♥♦♥s ❧✬❡①❡♠♣❧❡ ❞❡ ❧✬♦③♦♥❡✳ ▲✬♦③♦♥❡ ❡st ✉♥❡ ❡s♣è❝❡ s❡❝♦♥❞❛✐r❡✱ ❡❧❧❡ ♥❡ ♣♦ssè❞❡ ♣❛s ❞❡ t❡r♠❡

❞✬é♠✐ss✐♦♥✱ ❡❧❧❡ ♣❡✉t s❡ ❞é♣♦s❡r ❡t êtr❡ tr❛♥s♣♦rté❡✳ ❙♦♥ t❡r♠❡ ❞❡ ♣r♦❞✉❝t✐♦♥ ❡st ❞♦♥❝ ❝❛❧❝✉❧é

❝♦♠♠❡ s✉✐t ✿

PO3
(t) = ∆ [O3] (t) + dépôtO3

(t)− FluxentrantsO3
(t) + FluxsortantsO3

(t) ✭■■✳✶✺✮

▲✬é✈♦❧✉t✐♦♥ t❡♠♣♦r❡❧❧❡ ❞❡ ❝❡s ❞✐✛ér❡♥ts t❡r♠❡s ❡st r❡♣rés❡♥té❡ ♣♦✉r ❧❛ ♠ê♠❡ ❝❛s❡ q✉❡ ♣ré✲

❝é❞❡♠♠❡♥t ❡♥ ❋✐❣✉r❡ ■■✳✶✶✳ ▲❛ ♣r♦❞✉❝t✐♦♥ ❞✬♦③♦♥❡ ❞ér✐✈é❡ ❞❡ ❝❡s ❞✐✛ér❡♥ts ♣r♦❝❡ss✉s ❡st

r❡♣rés❡♥té❡ ❡♥ ❜❛s à ❞r♦✐t❡ ❡♥ µ❣✳♠−3✳❤−1✳ ▲❡ ❝②❝❧❡ ❞✐✉r♥❡ ♦❜t❡♥✉ ❡st ❝❛r❛❝tér✐st✐q✉❡ ❞❡ ❝❡tt❡

❡s♣è❝❡✱ ❛✈❡❝ ✉♥❡ ♣❤❛s❡ ❞❡ ♣r♦❞✉❝t✐♦♥ ❞✉r❛♥t ❧❛ ❥♦✉r♥é❡ ✭✈❛❧❡✉rs ♣♦s✐t✐✈❡s✮ ❡t ❞❡ ❝♦♥s♦♠♠❛✲

t✐♦♥ ❞✉r❛♥t ❧❛ ♥✉✐t ✭✈❛❧❡✉rs ♥é❣❛t✐✈❡s✮✳



µ −3 −1
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